(RO HBER]

IR 8% OgE s

144 (£75) KiB1
P IR TER ) KAB1
SN 2FE LR (FULE) ER
4INEB-AFEPHR(B~F) KA1
5/INE3-4F R (FE~) EL2
6/\¥5-6 FEMH(BA~F) AAE1
7/NE5-64F LR (E~) ER2
8L =T 40RIR(E ~ &) R
9L =740 HRGERLLE) SER5
10— ¥R (B ~8) £k AHB1
11— ERRGRLLE) - b F&5
12 EE RN A (R 2 E ST LS
13BN mER — & L E T TLH] BHH

XIBEER

EBEOSTTCR2ARKICES T TITVEY,

BMABIZEY, BEROMEANMTHOIIEENHYET.
a—jl.—
-RRGEFENEORY, TRIEHLTHRERL TSN

« T 4 2 INF

B ERPI DA IS FTRETY

* DL

[({AF D3 HBER]

14HFEFHRHEX 4121 FRFEE (50kgR i) -42F 2 (50kgbl )
15HEEREX 43hE 24 B 78 E (55kek i) - 44 B2 (55kgAE)
16/NVEIERF A5 3F B FEEE (60kgR i) 46 = (60kgAE)
17/INE2EBRF 4751 B FBE(0kg kK i)

18N EIFE B FESCBikegRim) - 199 ESB1kg L E)YFEFTET

485 BFEE(T0kglE)

20/NEIFEBFEEG IkgXRiE) 21 FEB1kgbl k)

49K FS(bar st

22BN FAE B FEE(3kg X i) 23 MBREE@3kg A E)EFHET

50&F7)LaviIk

24/INFAE B FEE((3kgR i) 25 FE(33kgA L)

51X F=TA0BE(A0m L L) B8 (60kgkKiH)

261/ NF5E R FERE (3vkeRimh) - 27 ¥R E = (3vke A L) BEHET

52X FL=T40EE (60kghlE)

28/NE5E B FEE (35keKifh) - 29F 8 (35kghkl )

533 =7 40(407% LA L 50/ K i) B = (7T0kg K i)

S0MR/NF6F B FEE (40kgKiH) - 31 NIREE 40kg A L) EFET

543 =T 40(407% LA E 50/ K i) E&E (T0kgA L)

32/NF64E B FERE (40kgR ) - 33E 2 (40kgbl k)

553 = 75088 = #k (65kg kK i)

B4INFEIFELF 56 =T750E =k (65kglE)
35/INFELF 57 — Rk

36/NEIERF 58— fg ik

37/INPAFE LT 59— f E{REE SR (T0kg K i)
38/NFESFELF 60— AR E AR
B9INFELRF

40 FELF

ROENEIFEE HFREFFET
MOEPDFAFEEUL HEFEREFET

BAEULTEROBAEENHS SR T LBOBICHGZL TSN

EEE, AEXRLBRROFHTERAAZS,

BR-RE- AEBICEANHOIBE THIBEROBNEENHYFET,

BSMARIZEY. BROKESHSITHONBGZENHYES,
-BRBORFII2EMI—MTHEREET> TSN

HFHEER HEHAEERERE
~AyR % 24 m | FIRE | 7E | ovon AE EREE [AEHE |BKREE
*7 H—F A—F L G 60F) 60F)
% #F @) @) @) BH X X o INEA (BK) [ 60F)
INFBF (1-24F) @) @) @) BH X X @) L (BR) 90F) 907
INEBF(3-4:5-65 [¢) @) @) @) x X @) BRE 90F» 90F)
INEZF(1-26F) @) O O HH BHH HH X ZF2)LAVE 90F) 90F)
INEZF(3-4-5-6%F) e} O O @) BHH BH X DoTEER-— AR [60F) 607
PEEF @) @) @) @) x X ©) — Rk 90F» 90F»
HERF-RFIMh @) @) @) (@) @) @) X — RS -EER 25 25 25
EREBEF @) @) @) @) X X @)
LF)LavEok x x O BH O O x
T=740 [¢) [¢) o) EET x x o)
=750 O (@) (@) (@) X X o)
— B F 8k O @) @] ®) X X O
— Pk X @) @) B X X o
— AR dE =Rl x x x x x X o)

AYFX7 i PR—4—FEBCABLTESD, RLBLEFVEEA
L1



